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Determine the output of the following:
1. 2.
# include <iostream> # include <iostream>
using namespace std; using namespace std,;
int main(){ int main(){
int a=5,b=2; double a=5,b=2;
cout<< a/b <<\t << bfa<<endl; cout<< a/b <<\t << b/a<<endl;
cout<< a%b<<\t<< b%a; int c=a;
return O; cout<<c;
} return O;
}
3. 4,
# include <iostream> # include <iostream>
using namespace std; using namespace std;
int main(){ int main(){
int a=5,b=3; int x=1,b=2;
cout << a*2+b <<"\t"<< b+a*2 <<endl; | cout << x <<endl;
cout << a/2+b <<"\t"<< a+2/b <<endl; |x+=5;
cout << a/2+b*2 <<"\t"<< a+2*2/b cout << x <<endl;
<<endl; X*=Db;
cout << a/2 <<"\t"<< a%?2 <<endl; cout << x <<endl;
cout << 10%12 <<"\t'"'<< 2/b*4+2- X%= 5*b;
1*a%?2; cout << x <<endl;
return O; X-=h;
} cout << x <<endl;
return O;

}

B. 6.
# include <iostream> # include <iostream>
using namespace std; using namespace std;




int main(){

int x=1;

cout << x++ <<endl;
cout << x <<endl;

cout << ++x <<endl;
cout << x <<endl;

cout << x-- <<endl;
cout << x <<endl;

cout << --x <<endl;
cout << x <<endl;
return O;

}

int main(){

int x=2,y=3;

cout << x+y <<"\t"<< y-x <<endl;
cout << x++ +y <<endl;

cout << y++ -x <<endl;

cout << x <<"\t"<<y <<endl;
cout<”

“<<endl,;

cout << ++x +y <<endl;
cout << ++y -x <<endl;

cout << x <<"\t"<< 'y <<endl;

cout << x-- +y <<endl;
cout << y-- -x <<endl;
cout << x <<"\t"<< y <<endl;

cout << --x +y <<endl;
cout << --y -x <<endl;
cout << x <<"\t'"<<y;
return O;

}

7.

# include <iostream>

using namespace std;

int main(){

int x=1,y=5,z=10;

cout << (x>y) <<endl;

cout << (x<y) <<endl;

cout << (x<y && z!=10)<<endl;
cout << (x<y || z!=10)<<endl;

cout << (x<y || z++==10)<<endlI;
cout<<z<<endl;

cout << (z++==10||x>y)<<endl;
cout<<z<<endl;

cout << (X<y && z++==11)<<endl,
cout<<z<<endl;

cout << (x>y && z++==11)<<endl;
cout<<z<<endl,

cout<< 5+(x<y &&z++==12)<<endl;
cout<<z;

return O;

}




